E#®R

— oA R (mg/L) FH1SHEK) EH2SHEK) FHRGK (HSHHAE) g —sm | B it ¢, S—
HOKEHH R3.4.15 | R3.7.19 | R3.10.6 | R4.1.12 | R3.4.15 R39.8 | R3.10.6 R4.2.9 R3.4.15 | R35.10 | R3.6.16 | R37.19 | R3.85 R3.10.6 | R3.11.10 | R3.128 | R41.12 | R4.29 R4.3.1 BKEAH R3.7.19
RKEEZI 10:41 9:50 9:35 11:40 10:51 9:50 9:50 11:20 11:54 10:52 11:30 11:50 11:58 12:45 15:33 13:22 12:26 11:57 RKEEZI 9:52
Eh zY Eh [ Eh Eh Bh Eh ] [ zY Eh Eh [ 5 & [ B S zY
&E (C) 13.8 31.8 25.8 5.6 13.8 31.8 23.2 258 48 14.6 234 27.0 34.2 26.0 182 9.0 7.2 6.0 133 il (°C) 31.8 31.8
XKiE _(°C) 16.2 15.8 16.0 15.6 16.2 15.8 16.0 16.1 152 17.6 19.0 22.2 248 228 18.6 16.0 12.0 11.2 10.8 K& (°C) 15.8 15.8
1| — A E 100f8LLF 0 14 0 820 0 0 0 0 0 0 0 0 0 0 0 0 1]1,3->%0070xX>0-D) 005 R <0.0002 <0.0002
AbNTIE BRIz E [E1E3 (=353 £33 £33 (£33 (£33 (£33 (£33 (£33 [EE3 et (£33 (£33 [EXE3 [EXE3 TETE 2[EPN 0.004 HRA <0.00005 <0.00005
3[ARSHLRUZDILED 0.003L4F <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 3[mMcPA 0.005 EEa] <0.0003 <0.0003
4| KEBRUVZDILEY 0.00054F <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 4|7EIz—F 0.006 - W <0.0008 <0.0008
5L RUZDIEEY 0.01LLF <0.001 <0.001 <0.001 <0.001 <0.001 5[1VEHFAL 0.005 EEt) <0.0003 <0.0003
6[SARUZDILEY 0.01LLF <0.001 <0.001 <0.001 <0.001 <0.001 6|4V T0FASL (IPT) 03 o A R TR <0.003 <0.003
ERRUVZDIELEY 0.01LLF <0.001 <0.001 <0.001 <0.001 <0.001 7[4FBR2HZR (1BP) 0.09 B <0.0009 <0.0009
8| AEZOLIES 0.02LLF <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 8[13/955> 0.006 - W <0.00006]  <0.00006
CIER T IEES 0.04LLF <0.004 <0.004 0.037 0.005 <0.004 <0.004 <0.004|  <0.004]  <0.004 9|Th7z>FOvsR 0.08 k- W <0.0008 <0.0008
0[S 7 ANPAA RV T 0.01LLF <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 10[A4 % > SRCEHER) 0.03 BRE BEA <0.0003 <0.0003
[ HEREERRUVEHBREER 10T <0.2 <0.2 <0.2 <0.2 <0.2 11]AJL 731 JLINAC) 0.02 B <0.0003 <0.0003
12 7yHERUZDILEY 08T <0.08 <0.08 <0.08 <0.08 <0.08 12]|FvT5 03 B <0.003 <0.003
BIESERVZDILEY 1.0LLF <0.1 <0.1 <0.1 <0.1 <0.1 13[F ks R—k 0.02 B EH - BRI E A <0.0002 <0.0002
14| migibik 3 0.002LLF <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 14|70)L=FO7x> (CNP) 00001 RE R <0.0001 <0.0001
15[14-SA Y _ 0.05L1F <0.005 <0.005 <0.005 <0.005 <0.005 1558 EYKRR 0.003 B <0.0002 <0.0002
16 :;,1;(2_1/2?55:11 ;Iv;fzpu 0,040 F <0.002 <0.002 <0.002 <0.002 <0.002 16|~0040=)L (TPN) 005 k- W <0.0005 <0.0005
17[>500458y 0.02L0F <0.001 <0.001 <0.001 <0.001 <0.001 17|27 /KA (CYAP) 0.003 EE <0.00003]  <0.00003
18|FhSH00TIFLY 0.01LLF <0.001 <0.001 <0.001 <0.001 <0.001 18] 4 0JLARZ (DDVP) 0.008 EE <0.00008]  <0.00008
z [ lbvanIFLY 0.01LLF <0.001 <0.001 <0.001 <0.001 <0.001 19[92vk 001 EEE] <0.00005]  <0.00005
20[Rot 0.01LLF <0.001 <0.001 <0.001 <0.001 <0.001 20[ < (CAT) 0.003 EEE] <0.00003]  <0.00003
21|55 0.6LLTF 0.07 0.13 0.13 <0.06 | 21[SART—F 0.05 FER <0.0005 <0.0005
PAVI=I= 3 0.02LLF <0.002 <0.002 <0.002 <0.002 =" 2254750 0.003 R - W <0.00005]  <0.00005
w | 28pADKILL 0.06LLF 0.002 0.002 0.002 0.002 28|5AbISRY 001 BEAL BRA <0.00002|  <0.00002
24| CHOOFEEE 0.03LLF <0.002 <0.002 <0.002 <0.002 | 24[F954 0.02 R - B <0.0002 <0.0002
25T 0ESOOARY 01T 0.003 0.003 0.003 0.003 25[FASANT 0.08 BT <0.0008 <0.0008
26| RS 0.01LLF <0.001 <0.001 <0.001 <0.001 26[FATFR—FAFIL 03 R - B <0.003 <0.003
| |27k naxay 01T 0.008 0.008 0.008 0.007 | Il P 0.006 BREA <0.00006]  <0.00006
28[ Ny~ OOEEEE 0.03LLF <0.002 <0.002 <0.002 <0.002 28[F&O)L7k (DEP) 0.005 BT <0.0004 <0.0004
29[J0ES/OO048Y 0.03LLF 0.003 0.003 0.003 0.002 29[FJTILSUY 0.06 REH <0.0006 <0.0006
30[TOERILL 0.09LLF <0.001 <0.001 <0.001 <0.001 30[+Fa/R5F 003 REH <0.0003 <0.0003
g | BURLLFAFER 0.08LLF <0.008 <0.008 <0.008 <0.008 31[/85a—F 0.005 REH <0.00005]  <0.00005
R2|HERRUVZDILEY 1.0UTF <0.01 <0.01 <0.01 <0.01 <0.01 32[2470=L 0.0005 BN <0.000005]  <0.000005
B[ FZIS=VLRUZDILEY 02lF <0.02 <0.02 <0.02 <0.02 <0.02 33|7z=tOFF> (MEP) 0.01 B WA RRRE <0.0001 <0.0001
34 HRUVZDILEN 03LF 0.14 0.10 0.08 0.11 0.07 0.05 0.12 0.11 34]|7x/75)LF (BPMC) 0.03 BN <0.0003 <0.0003
35 RV ZDILEN 1.0UTF <0.01 <0.01 <0.01 <0.01 <0.01 35[7x> FT—K(PAP) 0.007 BN <0.00007 <0.00007
36| FrIVLRUZDILEY 200LLF 9.1 8.1 8.5 7.6 8.8 36| TAIKR 0.02 R E <0.0002 <0.0002
37T HURUZDILEY 0.05LLF 0.058 0.054 0.076 0.13 <0.005 3[INFOFL 003 BEA <0.0003 <0.0003
381G {LH14> 200LLF 5 4 5 4 5 5 5 5 5 4 5 5 5 4 5 5 38[TOT IRy 0.09 A <0.0009 <0.0009
39| AL, TR LE (FEE) 300LLF 44 46 46 47 46 39| FoFAHRR 0.007 EEL <0.00009 <0.00009
40| ERZRY 500LLF 140 140 140 130 150 140 120 130 40[FOEHFIR 0.05 BREA <0.0005 <0.0005
41| AA L R EHF] 02lF <0.02 <0.02 <0.02 <0.02 <0.02 41[Far+Jy—n 0.03 BN <0.0003 <0.0003
2[CIARIY 0.00001AF <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 | <0.000001 42[R/3L 0.02 RRE A <0.0002 <0.0002
43| 2-AF LA JRIL A —IL 0.00001AF <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 | <0.000001 43[R BT 02 BREA <0.002 <0.002
24| e AA L R E M F] 0.02LLF <0.005 <0.005 <0.005 <0.005 <0.005 AR TAAFY Y 0.3 FREA - R EAI <0.003 <0.003
45(Jx/—)L 58 0.005L1F <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 45[R>I5HNT 0.02 R - B <0.0002 <0.0002
46| HHMZFTOC) 3UT <0.3 <03 <0.3 <0.3 <03 <03 <0.3 <03 <0.3 <03 <0.3 <03 <03 <03 <03 <03 46[RRFFE—F 0.003 FER <0.0002 <0.0002
47[pHiE 5801 F86LLTF 8.2 8.2 8.3 8.3 8.2 8.1 8.1 8.2 8.2 8.2 8.1 8.1 8.2 8.1 8.2 8.1 47[RSFAV (XS 07 e <0.0005 <0.0005
48[k EETHICE EELL EELL EELL 2eil| E¥al| BE4L] BEal| EEgL] B¥4L] EEglL] BEAL] BEgL] EEGL| BEGL] BE¥4L] EELL IR 0.03 FER <0.0003 <0.0003
M[ER HEETHLCE BERIkER WK ER HEEGL WL KRR] EEAL|] BEGL| BEE4L] EEAGL| BEGL| BEE4L] EEAL] BEGL| EE4L| BEGL| BEE4GL] EELGL 49| A25F L 0.2 FESL] <0.0006 £0.0006
50| & FE SELLT 1.4 1.3 08 14 0.9 0.7 0.7 <05 0.7 <05 0.6 0.9 0.9 08 0.9 0.9
51HE 2ELLT <0.1 <0.1 <0.1 0.3 <01 <01 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
B 1215 (mg/L)
1 ZUoFEVRUVEDILEEN 0.02LL T <0.002 <0.002
2[ ISV RUZDILEY 0.0024 T (+1) <0.0002 <0.0002
3=y LVRUZDILEY 0.02LLF <0.002
4R E
5[12->/ART8Y 0.004UTF <0.0004 <0.0004
K 6|% &
1R E
7 8[rLTY 0.4LLF <0.001 <0.001
9 IRIVEED (2-TFIAFIIL) 0.08LLF <0.008 <0.008
- INETEF 06LLF
| Lnlx &
12| —FIEIE SR 06LLF
B |"3[Sonn7ar=ryi 0.01ELT (1) <0.001
14[#Kk285—)L 0.02LL F(*1) <0.002
B | i5less 1T 0.00 0.00
16| 5% BRIEH 1T 0.55 0.55 0.45 0.55 0.50 0.55 0.40 0.50 0.65 0.55 0.45 0.55
= 17|HANSD L, TR L5 EE) 10~100 44 46 46 47 46
18| AV RUZDIEEY 0.01LLF 0.058 0.054 0.076 013 <0.005
5% |19 R AL 20T 1 2
20[1.11-F)POATRY 03T <0.001 <0.001
w [ 21[AFL-t-TFILT—F)L (MTBE) 0.02LLF <0.002 <0.002
22| H#ME (KMnOLEER) (* 2) LT <03 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3
15 | 23|RKEEE (TON) 3UT 2 <1 <
24| FRFEZEY 30~200LLF 140 140 140 130 140 120 130
g & B 1EUT <0.1 <0.1 <0.1 0.3 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
26[pHiE 1582 8.2 8.2 8.3 8.3 8.2 8.1 8.1 8.2 8.2 8.2 8.1 8.1 8.2 8.1 8.2 8.1
2|BEE (ST T7IER) —1~0 -0.7 -0.5 - 04
PRGIEES § HPC) 2000EL 2 8 0
20[1,1->H/0AIFLY 01T <0.001 <0.001 <0.001
30|7IS=Y LARUZDIEEY 01T <0.02 <0.02 <0.02 <0.02 <0.02
31[PFOSRUPFOA(* 3) 0.00005 4 T (+1) <0.000005 <0.000005 <0.000005
T | [ | ] [ | [ |
\ A am e | ABRE BritEhirn] B | BEC) | BEC) | BEC) | B | B Bt (=) [t (—)(1/12)
2 |2 JTRARNIILERE sk gREn BHINEN of o] of of of o] | of 001/12)
[ — S (RK) — 0.18 0.25 0.35 0.32 0.46 0.39 0.27 0.29]0.20(12/23) 0.33 0.40 0.18
@ TUE=THER 325 3 (JRIK) — 0.17 0.21 0.27 0.34 0.32 0.34 0.25 0.12[0.15(12/23) 0.19 0.28 0.15
P S BRE1EFHFEK) 1pg-TEQ/L 0011
FArE R B2 (FK) 1pg TEQ/L 0011
*1:8F
* 2. ZHETHH #46(TOC)TH A

* 3:PFOS(RILTILABAF VR XLV ) RUPFOA(RILI LA BA YRV EE)




